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Anna and Henry Play

Anna has a cat named Henry. Henry is a friendly black cat.

Henry and Anna play with a red toy mouse. The toy makes
a noise. The toy squeaks when Henry bites the toy. Henry
likes to make the toy squeak.

Anna and Henry play. They play for hours and hours. Later,
Anna puts the toy away. She puts it on a shelf.

Henry meows. He wants to play again, but Anna does not
want to.

Henry sees the toy on the shelf. Henry climbs the shelf. He
accidentally pushes over a bowl, and it crashes to the floor.

Anna sees the broken bowl. She gets mad and scolds Henry. Henry is sad.

Anna fixes the bowl. She feels bad for yelling at Henry. She takes down the mouse toy and
starts to play with Henry.

Henry is happy again. Henry bites the toy mouse, and it squeaks.
1) What kind of animal is the toy?

A. The toy is a cat.

B. The toy is a dog.

C. The toy is a mouse.

2) What can Henry do?

A. squeak
B. bite
C. talk

3) How does the bowl break?

A. Henry bites it.
B. Anna plays with it.
C. It falls off the shelf.
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4) Which word can we use to describe Henry?

A. crazy

B. playful
C. sad

5) What do Anna and Henry do? Use information from the passage in your answer.
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Answers and Explanations

1)C
Core Standard: Key Ideas and Details

In the beginning of the passage, it says “Henry and Anna play with a red toy mouse.” Choice (C)
is correct.

2)B
Core Standard: Key Ideas and Details

Henry is a cat. Henry can bite. In paragraph 2, the passage says that Henry “bites the toy.” Choice
(B) is correct.

3)C
Core Standard: Integration of Knowledge

In the middle of the passage, it says, “Henry climbs the shelf. He accidentally pushes over a
bowl, and it crashes to the floor.” Then the passage says that “Anna sees the broken bowl.”
Using this information, we know that the toy falls off the shelf. This causes the toy to break.

Choice (C) is correct.

4) B
Core Standard: Integration of Knowledge

Anna and Henry play throughout the passage. Henry is sad when Anna stops playing with him,
and he is sad when she yells at him. But then Anna plays with him again, and he becomes happy
again. Henry is playful more than he is sad. This means Henry is playful. Choice (B) is correct.
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